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1. Answer any ten from the following questions :
| 2 | 1x10=10
oY RIS R (A1 7=2oR es e

fa) Who was the first economist to have
coined the term ‘rnacroeconomics’?

STHEA FLNS’T LRy @ﬂmwﬁﬁﬁm
qywes fifeer?

(b) What is meant by depreciation cost?
FFT 335 o1 R o w2

2o V. WA Nalelsd

/B |




(2)

(¢) Distinguish between intermediate goods
and final goods.

O} A WE PO AR AT N2y Fefy
01

(d) Give one example of transfer payment, .

TIIFI AR GO Sz R |

(e) Define gréss domestic product.
| 2 91 T s oy |

()’ What is velocity of circulation of money?
TEIN b et 9

(g9 What is money supply?
TR @I 9 |

(h) How does credit creaﬁbn affect money
supply?

ma@wmm%emmm
CofeTy 2 -

(i) What is liquidity preference?
O %7 F 2 |

(i) Define ‘open market operations’ as g
tool of monetary policy.

T ST =fer ool Yo 3w aifemry st
e | ‘
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(3)

(k) Distinguish between der'nand-pull
inflation and cost-push inflation.

st et qarfe SIF T sfere ErRed
e 1@ T 90|

() Which country is facing ‘hyperinﬂation’
recently?

sreefes ST @A (0T s JUrEI
R (TR ?

(m) Mention Say’s law of market.
o1 IR R TEs 0

(n) State one essential condition of
Keynesian income determination.

@R oE R SRS 5O @Ol SRy
1 |

(0) In which case is LM curve horizontal?

& cvqe LM @er SRR =2

2. Answer any five from the following
questions : : : 2x5=10

@ 2 i G oo e i

(a) Distinguish between real GDP and
nominal GDP.

4TS 5 WA T WE NG [P Oqe]
TeAMAS e #(12f) fefy <4 |

F_o W B B BT B e



(4)

(b) Mention two types of transactions that¢
are included in the current account of

balance of payment. .
MRCET e[ fere Rre wEse (@ 7
(T 2I91F OFe 91 |

(c)  What do price indices show?

&R 1 CrER 2

(d) Distinguish between net domestic
product and net national product,

@EW%QWW@EW%%QWW
NLFT ey w47 |

(e) Write any two functions of money.

@ R GPIea w1 e ey |

() What is Speculative demand for money?

TR FHAPTS SfSem & 9

(9) Define inflationary gap.

Jareifey T 5w fay |

(h) What is money multiplier formula?

T4 BT IachT fF 9
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3. Answer any four from the following

questions : S5x4=20

o PR R I Bt Tad e

(a) Distinguish  between  balance of
payment and balance of trade with
example.

TuzgeR EEe  HfRenE el S fdEd
TSR qrere AL ey F47 |

(b) Distinguish between current and capital
accounts of balance of payments.

ARee STeR S Rpr W e oo
e A1/ fAefy <1 |

(c) How would you measure gross national
expenditure? State the limitations of

this method. o
P AP IW @M O A IRA @3
Tl &q FTREOPYE Sray 391 |

(d) Discuss the modefn approach to money
supply. '
@R @M CFIS YT (RO SCEs
41 |

(e) Explain the three motives for demand
for money according to Keynes.

@ WS WA viwE RS wfeem e
9 |
A I109Q7T



(6)

()  What is liquidity trap? Explain g
significance on monetary policy.

WWWW@‘?‘I@WW@WWWW'

(9) Explain the causes for the shift of the Ig
and LM curves.

IS |F LM (311 701 TABRS (REH 1Pz
TR 7 |

(h) What is fiscal multiplier? What factors
affect fiscal multiplier?

THFR & 57 I/ s 2oifRe
T BAmPTR 2

4. Answer any four from the following
questions : 10x4=40

Wmﬁmﬁﬁ‘ﬁ%@ﬁm:

(a) Explain the various basic issues studied
in macroeconomics.

wﬁmwﬁmwmwgammw
M

(b) Discuss the process of national income
accounting in an open economy.

Twﬁf‘—mwsrmﬁmmwmm
4 |

DDA T1 N0~



(7))

() Explain the process of circular flow of
income. In what ways do international
transactions affect this flow within a
closed economy? 7+3=10

o SEE odE dfeEer IRy T R
m@ﬁo—\sﬂr@ﬁﬁﬁw—wﬁm
@R AORIRS FC4 ?

(d) Critically explain the cash transaction
approach to the quantity theory of

-

money.
b S So 1L IR B R Ry o9l
AT I 1 |

(e) Compare and contrast between cash
transaction and cash balance approach
to the quantity theory of money. Which
one is superior? Give reasons. 7+3=10

T ART TG TS WUS T GA-CTT AE
o S AR DAl o S ey e
TR T e ? 3 fa |

() Explain the various tools of monetary
policy. Which one is appropriate to the
developing countries? Give reasons. 8+2=10

{mﬁlﬁ-ﬁﬁ%ﬂmwwumﬂzﬁ

wfie SERE R I T ? PR
eI |



(9)

(b

(i)

v

(8)

Define 1nﬂat1on Explain social costs of
- 3+7=10

inflation.

Evaluate the Keynesian model of income

determination.

Wwﬁ@qwﬁzﬁﬁwﬁwn

Compare the classical and Keynesian
models of income determination and
point out the fundamental differences

between the two. |
TEPS G @3N G AR R Tee
Ol P HIF :mﬁw e cﬁrﬁ?w "HW
wr@mﬁﬁtm o | o

Derive IS and LM curves. Explam their
properties. L 6+4=10

IS ¢ LM @WWW‘TW|WW

I T

* % Kk



